EARAROBEEIERT — 2 N— IBISH —F

201745A6H (+) 3m=#5H

ml\"—)I/S 1600FAF ¥5%4% L (GEE) #t 5T €2 B e
[A&4£] 1 7 18,200,000 § 2 7% :7,300,000 § 3 3&:4,600,000 ™ 4 3% :2,700,000 9 5 & :1,820,000 M
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 LR o4 | NISEZ 1:46.1 8-7 33.5|101.6 | 1 454 | BT (FH)
14| ST/TTV=F 85.0 =) o) | BRRES
:XFAT—IVF BiNERXT4—1— FREHRS
R B4 | MR- 1:46.3 6-4 34.0| 99.5 | 2 458 | BEFZ (RR)
2 10|y k777> % 55.0 (1 1/4) © | @R ERA-ZL-—s27
L:F—=TA1NT N BRTUEET Y — J—HrTr—LA
; 4 5 | JIIERHE 1:46.4 2-2 349|986 | 9 468 | SIERZ (EX)
3y 0| HELZ 55.0 (3/4) (+12) | HEAOE
RiNn—ErYr— BRINECTYa =Ty —1I
S 4 5 | C. Jbx—Jb 1:46.4 8-9 33.8| 98.5 | 4 434 | REAFMA (EH)
4|55/ VAN 55.0 () © | @ ¥rFoL-—sy
X2 THANAN B:O-—¥T52h ST r—L
. . o4 | KB 1:46.6 10-10  [33.7] 9.3 | 3 444 | EER— (FH)
51811 '7/ AV 55.0 (1 1/4) -2) HlE—
RiFA—TANU N BT HhTy b HE77— L
s = 4 4 | BRI 1:46.8 &8 34.9| 94.3 | 10 424 | BIETE (ER)
6|7|8 |7 T>TNHIL—F 55.0 (A 1/4) 2) | B B
LN—E>Tv— BNy aFILEUX FLFENRB
¢ ¢ s 4 | ERKR— 1:46.8 10-11 33.8| 942 | 5 478 | hFFE (ER)
70111 |A=XT 1 Zs¥— 55.0 (74%) (o) |BREHILY
R:7—U74—Z B:O-HIXF1H =¥ Ty —L
. . AAILBATE : — Bk (EH)
sy 7 LY ZINY K 4t 6 530 1(.14/62.)9 6-7 345|932 | 7 zzg;t i
RiviNysLhTz B:YNTr—hyT HET7— L
S NN R MEZEZ :47. - . . Fif (FER)
gkl 3| ~3 gFIN—F i 55.0% 1(14/72)0 o R R (410) EAREH
L:70%F% B:2avtxI47 BRIT7— L
s i 7 | EPR 1:47.2 1-1 36.5| 91.0 | 8 458 | IBILTEHE (RR)
10 9 '71;(7/ LNy H 55.0 (1 1/4) 0 Eiapllh
L:tr/n7AA4 B:UIXL Frad— JIRZLT7—LI
RYIETI B 6 | EREHA 1:47.3 5-4 35.0 | 89.0 | 11 516 | AREEE (EH)
1] 6 R RAREI 5.0 (3/4) o |l
RNSEART )=y BT NTYcvYa I 4535
@ 21 L
£ 47.3-35.4
Naa24 4L | 12.6-11.0-11.5-11.9-11.8-11.9-12.0-11.9-11.5
® 1—F—@EBIERL
13—7F-
2ol=5"=
Ja=77= 9=2-8,3,6(7,10) (5,4) (1,11)
40—F— 9-2,8(6,3,10) (7,4)5,11,1
[ RN
B 4 320M 714K 4-10 280M e E 4-8 330 JEE 2-4-10 5,860
8 B 4 1504 2-4 1,590H B E 4-10 620M 3EE 4-10-2 18,980M
10 1509 2-10 2,350 B H 4-10 1,280M
2 660M

ABICOVWTRDTEEERROODE. TR LIV,




